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And from =2>w7IR 52 to 120°vPNR he did not require

OVERVIEW

X70m 21 required that 1"92 be said when a 03 was brought from 7190°UpX to "2
7w77X. However from X"2 to 1190°0pPXR no 1"92 was required. Originally the
X713 sought to explain this anomaly by suggesting that the residents of X"2
were WY 1X°pP2 as opposed to the residents of 1790°vpxR. The X3 challenged
this, stating: X277 7°% n°k 727 XM! One may ask, even if X277 7% n°R 729,
nevertheless according to 7127, if X"2 are X°P2 and 190°WPX are not XP2,
that would explain why 1"93 is required in one instance and not in the other.'
moon will be dealing with this and other questions on the X na.

mooIn asks a question:
= 2999 1399N75 N2 YON TP D 92) PNADIVPNRY DIYTIND 9NN ON)

And if you will say; that from 2>w79R to 112°°uPKX one should also say 1"52;
for there should be a decree that sending a v to 1190°UpX requires 1'52 on
account of bringing a v3 from 1190°0pX, as we previously” stated in the X,
that according to 721 the reason why the >X7n2 1327 require 1"92 in the case of >"&n 791
2" is because X°an WX PYM A We should say the same regarding from X" to
ToovpR. If we do not require 1"92 from WTIR "2 to 71DOWPK we may eventually not
require 1931 from MOOLPX to PWTIX 2. From NOOLPR to TWTIN "3, saying 1"91 is
definitely required.

MooIN answers:
= N2 YON 7291 1997 KD XDy 99195 X297 19D 51PN N2YT XIPUNIT 9 v

And one can say; that according to the conclusion of the X773 that 7239
agrees to a9, that 1"92 is required for 2P (as well as 7Ww?) everyone (even
.'m)3 agrees that we are not X°2a» R v At

! s"y9 addresses this issue in XM 71"7. However he does not offer proof that X"2 and 7190°0PX are in two
different M.
23,797
3 According to X217, we have never assumed that X>2% YR 2% 11°71.
* The only reason we assumed that the X702 7327 are X*22 X T2 M3 was to explain why, according to
727, the °X7N2 13271 maintain that 5" 2"&n 790 is required to say 1"92. Seemingly the °"X 12 are X°pa
nnwY, there is no need to say 1"52. Therefore we needed to explain that the *X7n2 1127 are 8227 R 20 0.
However now that we conclude that X277 77°% n°X 1127, the reason of the *Xn2 1127 is simple. 1"92 is required
by 21177 "X 21 on account of a1°p. There is no need or proof that we are X°21 UK T°217 MA.
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moon will discuss and deduce the location of 2°w77R °2 and 1190 VPK:
= NIND N INWA INT D223 PUTINT AN

And it seems that =272 is located within »23, for if 2>w7X was located
elsewhere in ®''¥7; not in %22

- 59553 937 NNAVYY PRIPA PRY 29Y 9207 N13d) 9995 s¥a 9991
How did the X713 attempt to offer an explanation, that from X"2 to 1190°UpPK
one is not required to say 1"93, since we will assume that the reason in
general for saying 1"01 is because they are not m»w» 8°p2; however the
people of WTIX are pa. That is supposed to explain why 1"91 is not required from

TWTIR to N9 PR, However this cannot be; for if 9°w77IR was not in 922 then —
= IPYHPY 929 99N NY 132WN NN 299907 D9 Nn

What is accomplished by the fact that they are knowledgeable in w5,
but nevertheless we are concerned that the situation may revert to its
original ruinous status? In "1 (not 923) even when the people are w21 *pa we
require 1"93, because of the concern Y21p2p% 727 M1 RWw. Therefore we must conclude

that since the X7 wanted to exempt the X"2 from saying 1"92 since they are >7°n3; this
proves that °w7IR is in 922. Indeed in 922 we are not required to say 1"92.

- 995133 513 PAVIVPN Y235 INT Y231 INY 19N Y PNIDIVPN)
And 7190°2pR is undeniably not within ®22, for if 1190°bPX was in 922 then
the people of ep’uUPR are also knowledgeable in mw5. All of %21 are X2

e -
= 99519) NY 231 9INP IND)

So how can the X713 say; these residents of 190°0PX are not mPwS PROPI.
Therefore we must conclude that 1109°0pX was not in 722 (and 2W7IX °2 was in 922).

mooin offers another proof that 1190°WPK is not in H22.
= M) NPIVY MOIN NDAT I

And furthermore, even without the explanation that the people of "2

7wTIR go to the marketplace of noooupx, we still would not require 1"93. For —
- ND2NN ANIYT NMDIND 1ONND 19 NPT 299 935 13>9mN

We have previously stated according to 29, whose opinion we follow in
matters pertaining to laws of prohibitions’ (including the laws of v and

1"91), that there is a prevalence of academies in 732 and therefore in 732 there
are always 1°°p% 0™1¥n 07y, If oo PR would be part of 933, it would not be necessary to
say 1"92 from X"2 to 1OOWPR because Xn2°nn mow; we do not need the reason of 91X

> As opposed to monetary laws, were we follow the ruling of YXmw when he disputes 21.
2
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Xpw.° Since however the X3 does give the reason of XpWwb *71x that proves that
1DD°LPX is not part of 722. Were it not for the reason of XPWw? *218, one would have been
required to say 1"92 from X"2 to 1190°vpPX. For since 1190°0PX is not in 923, therefore there
usually are no m*»p% PM¥n 0>7v. However here since the R"2 are Xp1w? “7IR to NODWVPR,
therefore there are 27p% PMxn D7V,

= 113729 1371992 N Y231 IND PODIVPN)I Y232 PYWTIN INTI NIN

Therefor,e we must certainly say that 2°w72K is in %22 and 199 LPR is not
in Y22 and it is considered delivering a 03 from 7°72% 773972 >"77a -

= NPIYY SDINT IND IN 1399PY 118N DY1Y )N)
And there are no 2°7y available to be 2»p» the v, were it not for the fact

that the X"2 went to the market in noooupx.
= N297 7’9 O Na9 N 929V 799 NV

And now’ the question of the x 3 is rightfully understood® since 731

agrees to N2 that 1"92 is required on account of avp as well, so even if the X"2 were
WY PROPI, but since R"2 and 11O0°WPR were in separate countries

- 19D 1NN DY PPRT 1193 POVIVPNY PPYTINS T8 NY ININ)
Why was not 1"92 required from =»27aR to 12O°UPR, since there are no
witnesses readily available to be 23922 the 037!

mMooIN anticipates a possible question and answers it:
= DN PIOON NINT NIN 7PN XD 1Y 1T MM 1PNY %9 DY 9N

And even though X"2 and 150°UpPX were close one to another, and only the
river nva7 separated them

= (3,1 9729y) 122991 T8I P92 1329INRTI
As the X2 says in 3°92p» 7X%5 P95. Why therefore should we require 1"92? Since
they are so close to each other, there would seemingly be 1P 131 0>7v?!

mooIn responds:
= T SNV 22PUN DIPN Yan

Nevertheless, they are considered as being in two separate countries, and
therefore 1"92 is required.

® See “Thinking it over’ # 2.
" That we have determined that °w7X is in 9322 and 190°PX is not in 932.
8 (See ‘Overview’) If we were to assume that 1190°0pR1 X"2 are both in 932, not like nNdOIN proves, then the
question of X277 °2 nN°X 1727 XM R120NY, is not understood. Granted that X277 72 n°X 7127, but since both X"
7ODWPRIY are in 923, where WM»p% 1) 0°7Y, there is no need for 1"53 according to ¥27. According to 727
however, if &"2 were P2 and not 1190°0PX, then it is understood why from X"2 we do not say 1"92 and from
1190°0pR we do say 1"92.
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moon offers an example, that even though two places are very close to each other,

however if they are in two separate countries, we consider them as if they were far apart.
= PO0AN JTYVY 29D NPIN PIYY INIYS NINND PIYNY 17997 93 MO

Just as 3797 92Y is separated from 'R concerning n,vm,9 because the 379°

river separates 179°7 92y from >''R proper. We see that a river can divide its
opposite banks into two m1>7n.

= PNOVIVPN I YOI (2 41 N1 RND 9993 1999NT NATDIVOPN Nt °PNY)
This 122°upPN is not the one which the X713 refers to in the first pap of
NmY, saying: that the city 399 which is mentioned in 11 nw»,'" refers to the

present city of J399%UPR. The reason that these two 1190°0pX are not identical is —
- NPT DU 290975 M0 [NYUN NIRRT (rRm) NINNT
For that 1190°vpPX mentioned in X121 was from the land of "R as it says13
in the preceding 05 -
= 20 munan) 9919 11393 NIN 129 MUK N RINA YIND N
Tmwx left from that land'® and built the cities of 7% etc. He then mentions
707 as one of the cities that WX built. While the city of 1190°0PX mentioned in our X1
was in the land of the '*o>7ws.
:(PODIVPN NT 1D BNN AN5 7Y T wrraay)

(And in s'"'"'w9 commentary, he wrote there,18 that o1 is 1150‘!3,78.19)

SUMMARY

% If the current ?°1n made a 7Pt on a property in 777°7 72¥ and the original owner (7v7¥n) lived in "X (or
vice versa), it is not considered a npi. The validity of a 7P depends on the s"w7vn ability to be aware of
the 7P and nevertheless not protest. This proves the claim of the P 1rn. If they live in two M17» such as
17777 72y and *"X, we cannot assume that the ¥7vn was aware of the 711. In many instances the distance
between 77771 72¥ and °"X is only the 777°. It seems highly unlikely that the 7v7vn», who lived just across the
river, was not aware of the 7pm. Nevertheless the rule is if they are in different n1>7» there is no npIn.
Similarly here, since X"2 and 7190°0pR are in two N11°71 therefore 1"92 is required.
' From this point onwards the N0 is in parenthesis. It is the opinion of others that this is a later
addendum to the m»oIN.
2 P,
"2 This is evidently a transcription error as indicated in the gloss (see X"w1n).
Bxs > pwsna.
' There seemingly should be a double closing parenthesis, either here or at the conclusion of the Mmaon.
15 “That land’ refers to 922 where the 739977 M7 built the 57n. Therefore MWK (and by inference j07) was far
from 922 and also from 190°vPR which was only across the river n237 from 222. See 717K7 R"wAnnA.
' See ooaw> MoOIN in oW XA,
' This last phrase is encircled in parenthesis and others delete it entirely.
' Presumably in x»v 'on. However in our text of *"#1 we do not find it there.
" As opposed perhaps to the X073 that 1190°0p 1 J07 without an '7">X', which would resolve the problem.
See X1 07w MO and IRA RN,
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According to the X3pon that X277 77°% N°X 1727, there is no X2 VKR 7°9% 77
X"2is in 222 as evidenced by the fact that the & n3 originally exempted them
from saying 1"92 since they are 72w% PX°pa. In 2", beside 923, that would
not be a valid reason since we are 121922 127 T RAW WWIN.

1DOWPR is not in 222 since the X3 thought that they are not 1°X°pa. In 922
we assume that all are X°p2. Furthermore, if it were in 922 no explanation is
necessary why from X"2 (which is also in 722) to 1%90°UPX no 1"92 is required.
The X723 asks therefore, since X"2 is in 722 and 19D°YPX is not in 923, then
1"92 should be required from X"2 to N90°vPX (as well), since it is 717777 7170
TR0,

This requirement that 152 must be said °"17712 73> 1797, is valid even if
the two cities are extremely close to each other as 1o0°vpXY X"1. This is
similar to npIn 17, where no 1PN is valid n171% 717n regardless of the
proximities of the areas involved.

This 7190°0pR (near 921) is not synonymous with the 1190°vpX mentioned
elsewhere as the renamed city of 107, for 707 was in the country of MWX.

THINKING IT OVER
1. Before the X3 concluded here that 277 7°2 n°X 727, why did not the X3
ask X227 108 T N2

2. Let us assume that 190°0pPX is within 532.2! As far as mpoIn proofs, we can
say as follows; concerning the first proof why are they not 7"X°p2? Perhaps
T09°vPR was an unusual exception to the rule. And as far as the second
proof, we may say that without Xp1w% *71X there is something preventing the
MP% 18n 227y, Perhaps there was a 01°n nyw of sorts. Therefore we need
to say Xp1wY *21. However, 1190°0pX may still be in $22.%

3. Why is 1"92 required from 1190°0pX to X", if they were 1% 17 n1oe'? The

»"n of our mwn is of the opinion® that by 'm2m0' we do not require **1"52.

20 See TR X"WAN.
2 See footnote # 6.
22 See 1"V 19 MR 27 °27 XTIX and 0% .
2 See X,7.
* See 0"nn awa (1w o) 7"0.
5

TosfosInEnglish.com



